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CPNPP NRC 2010 Written Exam Analysis
1-75 RO / 76-100 SRO Only |VALUE: i{1f1f121f12}2f12}2}j2}j2})2j2)2})212}j1}1f21f1f1f1f1f1f1f1faj2j1jaja2ja2j12j12j12jrj1j1f1frfrfrfrfrjy1rf{1j1j1j1j1j1|1
Date: 04/05/2010 KEY ANSWERS:|B|A|A|C|A|(D|D|C|A|C|(D|B|A|A|D|(B|B|A|C|B|B|C|(B|D|B|C|C|B|D|A|C|A|[D|C|A|A|D|C|D|B|D|(B|D|B|A|JC|(D|B|B|D
Name TOTAL%| PTS | 1| 2|3 (4|5|6|7|8]9(10(11|12|13|14(15|16|17(18(19]|20|21(22]|23|24(25(26|27|28(29|30|31|32(33|34|35(36|37|38|39(40|41|42|43|44|45|46(47|48]|49| 50
92.0 920 | C B D
89.0 89.0 C D C B D
92.0 92.0 ClA[A
90.7 68.0 B C D D
92.0 69.0 B AlA A
88.0 66.0 A B A A B|A|C
86.7 65.0 B C C D A B|D
92.0 69.0 B D B A
89.3 67.0 D C D C
Total Missed| 1 1 1 1141 1 3 3(3|6]2 1 1 1112 1 2132
varue: e[ aJafafafalalalafafalalalalalalalalalalalalalalalalalafalalalalalalalalalalalalalalalalalafafala]1
KEY ANSWERS:({C|C|D|(D|B|C|B|[D|A|C|B|D|C|D|(C|B|D|B[C|B|A[D|C|A|[C|A|A|C|(D|B|B|D[A|C|C|[D|B|A|JA[C|C|B|A|A|B|C[B|JA|B|A
Name SRO% | RO% [51]|52|53(54|55|56(57(58|59|60(61|62|63|64(65|66|67(68|69|70|71|(72|73|74|75|76|77|78([79]|80|81(82(83|84|85(86|87|88[89(90]|91|{92(93|94]|95|96(97|98|99|100
84.0 94.7 C A A B A
88.0 89.3 C A B B B A
88.0 93.3 D B ClA B
90.7 C AlA
92.0 A A
88.0 B D
86.7 D C D
920 | D D
89.3 C D[D C
Total Missed | 1| 1 111]12|1(2(3 112]2 111 1 1(1 1 1(2 1 1 1 211
Average 86.7 90.7
SRO Total Points = 100 Comments: Question 27 was discussed with candidates. The question is based around MODE 6 operations that are primarily covered in the classroom. They understand after review that the
RO Only Points = 75 purpose of the question was to assess their knowledge of requirements for containment integrity while moving fuel. We consider discussion of this topic as adequate assessment and closure
SRO Only Points = 25 for this high miss question. Question 80 was discussed with the SRO candidates and those that missed the question stated they just did not recall the CET temperature entry into SACRG-1.

We consider discussion of this topic as adequate assessment and closure for this high miss question. Question 97 was discussed with the SRO candidates and those that missed the question

said they were going to pick either A or B and understand why A is not correct. We consider discussion of this topic as adequate assessment and closure for this high miss question.
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